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[The figure in the margin indicates full marks. ]
Group-A
(Multiple Choice Type Question) I x 60=60
Choose the correct allernative from the following :
(1) Value education is a process by which
a) People give moral values to each other. b) People quarrel with each other.

¢) People provides education to each other.
(2) Educational institutions

a) plays a significant role in the degradation of
value.

c) plays a significant role in the demolition of v
alue. '

(3) Unable to understand others lead to
a) Good relationship
¢) Unhappiness
(4) Physical facilities for humans
a) Is necessary but not complete
¢) Social
(5) Value education can develop within a person
a) Character
¢) Social development
(6) Core human values are
a) Love
¢) Truth

d) People medical tretment to each other.

b) plays a significant role in the promotion of v
alue

d) Does not play a significant role in the promo
tion of value.

b) Happiness
d) Good communication

b) Is necessary and complete
d) Physiological

b) Moral development
d) All of these

b) Pedce
d) All of these

(7) Basis for all our thoughts, behaviours and actions are

a) Justice
c) Value

b) Happiness
d) All of these
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(8) Happiness may be defined as being in AL 012
inatl hical @™ g <70
a) harmony/ synergy in the states/ situations b) Ethica B e Koth
¢) Dharma d) Niti gare”

(9) The Program To Fulfill Basic Human Aspirations includes | .
b) All the other wants under Right Understandi
ng and Relationship with humans

o Supplementary

¢) Coritrad.iqlory- J d) None
(10) If physical facilities are provided to a person, he is
a) Complete b) Complete to some extent
c) Logical d) Illogical
(11) Good relationship consisted of
a) Organizing b) Good understanding
¢) Division of work d) Planning

(12) Wealth means and includes

a) Top to Bottom b) H.a.v_ing money, or having a lot of physical fa
' cilities, or having both.
¢) Horizontally d) All of these
(13) Indian life has ... Fundamental goals.
a) Three , b) Five
c) Four d) Two
(14) The term ‘value’ is derived from the Frenchword ...............
a) Valoir b) Valas
¢) Velois d) None of these.
(15) One of the undesirable common habits with us is that we have a tendency to suspect ot
hers
a) Intention b) Intusion
c) Intelligence d) Attitude
(16) To establish Universal Human Order, the starting point has to be
a) Individual : b) Joint Family
c) Business Organisation. d) None of these
(17) is the human value which is all-encompassing.
a) Love b) Anger
c) Jealousy » d) Happiness
(18) Ethics in compliance means................ not cause harm ;

b) It deals with the moral principles behind the
operation and regulation of marketing

d) None of these

%) It is about obeying and adhering
¢) It deals with the duties of a company to ensu
re that products and production processes do
(19) Which of the following is not a 'code of conduct?
a) Code of ethics b) Code of practices
¢) Code of behavior d) Code of management

(20) A set of principles and expectations that are considered binding on any person who is
member of a particular group is known as -

a) Code of ethics b) Values
c) Ethics d) None of these
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(21) Behavior that does not confirm to generally social norms will be considered as:

a) Arrogant Behavior * b) Arbritary Behavior
¢) Ethical Behavior d) Unethical Behavior
(22) For stopping the unethical practices at society level ......... practice should be followe
a) Establishment of consumer associations b) Consumer awareness programs to be stated
¢) Publish journals on social issues " d) All of these
(23) Making decisions on the basis of experience, feelings and accumulated judgement is ca
lledas
a) Decision making b) Structured problems
¢) Intuitive decision making d) None of these
(24) Which of the following is a disadvantage of social responsibility?
a) Possession of resources b) Ethical obligation
¢) Public image d) Violation of profit maximization
(25) According to Kant’s approach to moral philosophy, ethics is based on oarY
a) the consequences of one’s action. b) sympathy. Uc‘:. AL .‘{
¢) social contract. ' d) practical reason. B'a'f'l:’rj,_., gt - 1Y
(26) Which of the following is an example of a value? e
a) Justice b) Happiness
c) Security d) All of the answers are correct.
(27) What is the origin of the word ‘Ethics’?
a) Ethica b) Ethicia
¢) Dharma d) Niti
(28) Holism means .............
a) Oneness b) Divinity
c) Materiality d) All of these

(29) OpportModuleies for social innovation are greatest when:
a) CSR is aligned with a firm's core skillsand ¢~ b) CSR spending of a firm is larger than that of

apabilities. its competitors
¢) CSR is pursued by a firm to improve its repu  d) CSR is pursued by a firm to enhance human
tation. capital.
(30) Which one of the following is not an ethical guideline?
a) Developing respect for all life b) Understanding how earth works
c) g(;:sidering humans as the predominant spe ' d) Seelilis of avironmiental wisdmm
(31) Which one of the following is the major environmental issue?
a) Use of resources b) Use of economy
¢) Education d) Employment
(32) Atmospheric issues include all of the following except:
a) acid rain b) global warming
c) air pollution d) water quantity
(33) Sustainable Development focuses on more use of:
a) Renewable resources b) Abiotic resources
¢) Agricultural resources d) Natural resources

(34) The idea of sustainable development was conceived in early
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a) 1950 eI '-n b) 1960
¢) 1970 farcgt, Kanen TR d) 1980

(35) A chemical industry is not a cause of _
a) Air pollution b) Noise pollutlorl
¢) Water pollution d) Nuclear pollution

(36) This is an effect of transportation ’ -
a) Air emission b) . Material consumption
¢) Solid waste generation d) Acid mine drainage

(37) Carbon footprints is used to determine the amount of offsets necessary by a business to
sell their product as ___but is not used to determine carbon liability

a) Carbon neutral b) Carbon dating

¢) Carbon cutting d) Carbon rating
(38) Adverse social impacts could be in the form of

a) Loss of land = - b) loss of structures

¢) Loss of livelihood d) All of these

(39) A sustainability report is the key platform for communicating ., _ and impacts whethe
I positive or negative

a) Sustainability performance b) Management decisions
¢) Financial analysis d) Information
(40) A whistle blower is an employee who
a) exposes organisational wrongdoing ‘ b) complains a lot to company management
¢) engages in un-ethical behavior d) referees disputes with other employees
(41) The five major renewable energy resources are
a) Solar and wind b) water (hydro)
c¢) Biomass and geothermal. d) All of these
(42) Wind energy can be used to generate
a) food b) fuel
¢) Hydro-electricity d) Electricity.
(43) Solar rooftop can be used to generate
a) fuel : b) Electricity
¢) water d) wind

(44) Full form of TRIPS is
a) Trade Related Aspects of Incorporeal Proper  b) Tariff Related Aspects of Intellectual Propert

ty Rights .Yy Rights
c) Trade Related Aspects of Intellectual Propert  d) Trade Related Aspects of International Prope
y Rights rty Rights

(45) Under Article 66.2 of the TRIPS Agreement, developed country, it has been provided t
hat members shall provide incentives to enterprises and institutions in their territories f
or the purpose of promoting and encouraging technology transfer

a) Small scale b) to least-developed country Members
¢) labor-intensive d) Cost-intensive
(46) Bhopal Gas Tragedy reminds us
a) Of fallacy of technological development b) Of Industry’s unethical move
¢) Of man-machine relationship d) Of unethical engineering

(47) The idea of "intermediate technology," has been propounded by
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a) Plato
¢) Aristotol

(48) Full form of WIPO ig
a) World Intelligent Property Organization
¢) World Intellectual Property Organization
(49) A patent is a form of

b) Dr. Ernst Friedrich "Fritz" Schumacher
d) Darwin

b) World Intellectual Private Organization
d) World Intelligent Private Organization
a) International material b) Intermediate property

W SGoR] praperty + d) Intellectual property

(30) Technology assessments are a form of

a) Balance knowledge with essential social skil

Is. " Scientific process
¢) Costly analysis d) None of these
(51) Which one of the following is environment friendly? % Y
a) Atomic energy b) Coal energy L e '*
¢) Wind energy d) Oil energy ppe ’
(52) The club of Rome was founded in
a) 1967 b) 1968
c) 1969 d) 1970
(53) Appropriate technology movements can be found in both
a) Developed countries b) Developing countries
¢) Both developing and developed countries.. d) None of these
(54) WTO came into force on ¢
a) Ist January,1995 b) Ist January,1996
¢) Ist January,1997 d) Ist January, 1998
33 s svssvvesnanin is the right of a superior to give orders to subordinates, take decisions etc
a) Authority b) Responsibility
¢) Accountability d) None
(56) -——---- is the process of inducting an employee into the social set up of work.
a) Placement b) Induction
c) Absorption d) None of these
(57) -------- means issuing orders, instructions and commands.
a) Directing b) Delegation
c¢) Authority d) All of these
(58) ......... are the principles, which govern and guide business people to perform business
functions :
a) Business ethics b) Code of Conduct
¢) All of these d) None of them.
(59 A ..oeeveennnen is a written document, inspirational in contents and specify clearly wha

t is acceptable or unacceptable behavior at workplace and beyond, when the employees
represent their organizations outside.

a) Code of Conduct b) Business ethics
c) All of these d) I‘\fone | .
(60) Which among the following are advantages of managing business ethics in the workpla
ce?

a) Cultivation of strong team work and producti  b) Avoid criminal acts
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~ All of these
¢) Lower fines d)



